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SECTION - A

i) General Awareness

Dhanush missile i3 the naval
 Aedatlodal variant of which missiie?

{A) Trishul
(B} Prithvi
(C) Agni
(D) Akash

Which organisation has been
awarded the prestigious Gandhi
Peace Prize-2014 7

(A} BARC
(B) DRDO
(C) ISRO
(D) CFTRI

The winner of 2015 Miami Open Tennis
Wemen's Single title is

(A) Suarez Navarro
(B} Alize Comet

(C} Serena Williams
(D) Andrea Petkovic

India's Oronavalli Harika is
associated with which sportievent 7

(A} Chess
{(8) Badminton
(C} Tennis
(D) Basketball

Whichameng the following is the world's
largest e-commerce comparny 7

{A) Amazon

(B) eBay

(C)y Alibaba

(D) Flipkart

hitps://ww,

.

10,

Which state has launched country’s
first e-Vidhan mobile app, recently 7

(A) Uttar Pradesh

(B) Himachal Pradesh
(C) Kamataka

(D) Andhra Pradesh

Which state has become first 10 fix
minimum educational qualification for
panchayat polis ?

(A) Kerala

(B) Gujarat
(C). Rajasthan
{D) Kamataka

Which country was chosen to Chair
Partnership In Population and
Development (PPD) for the year 20157
(A} India

(B} China

(C) SrilLanka

(D} Ghana

Prime Ministar Modi has launched the
“Give It Up” campaign for voluntarily
giving up

(A) Use of tobacco products
(B) LPG subsidy

{C) Use of incandescent bulbs
(D) Usa of plastics

Who bagged the best actress award
at the 62" Natlonal Film Awards 7

(A) Priyanka Chopra
(B) Vidya Balan

(C) Kangana Hanaut
(D) Rani Mukhedni
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il) General Intelligence and Reasoning Ability

11,

12

13.

14,

15.

Find the missing temn.
1.3,9, 31,129,
(A} 343
(B} 451
(C) 651
(D) 543

Find the odd man out.
(A) 125
(C) 3375

B) 25
(D) 625

In & farnily, there are six members
ABCDEandF. AandBarea
married couple, A being the male
member. D is the only son of C, who
is the brothar of A_ E is the sister of D.
B is the daughter-in-law of F, whose
husband has died, How is E related
wi?

(A) MNephaw
(B) Daughter
(C) Sister

(D) Son-in-law

In a code, CORNER is written as
GSVRIV, How can CENTRAL be
written in that code 7

(A) DFOUSBEM
(B) GIRXVEP
(C) GNFJKER
(D) GMJFKER

Complexion | White | Black

(&) Alert: Intelligent : Babies
(B} Health : Disease ; Hospital
(C) Train ; Bus: Journay

(D) Officer : Honest : Corrupt

https://ww

16.

17.

18,

D M0 0

A compass was damaged and ils
neadle tumed in such a manner that
the pointer which was showing wes!
is now showing south. Raja went
towards geographical east as per the
above compass. In which direction

did ha wentto go 7
{A) East (B) West
(C) Morth (DY South

Priya travel 5§ km East and then
15 km towards her right. She then
travel 12 km to her left and then B km
towards her right finally she travelied
& km by trning 180 degree and then
slops. How far is she lrom the starting
point in veriical direction 7

(A) 29 km

(B 21km

{C) 17 km

{D} 23km

Which year will have the same
calendar as that of 20137

(A) 2018 {B) 2019
(C) 2020 (D) 2024

Find the odd one oul.
{A) twigs : nest

(B) wood : furniture
(C) picture : pollery
(D) geld : ernaments

If “+" means """, "+" means "x",

“«" means " -, "=" means "+", then
(75 % 25) + 2+50-10="7

(A) 16.67 By 12

(C) 977.5 (DY 20

—
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21,

24,

25.

B

AT 0000

liiy Arithmetical and Numerical Ability

It i<+ 25 & four digit odd number, then
which among the following must be a
four digit even number ?

(Ay K+1
(B) K-1
C) K+3
(D) More than one of the above

Mumbers from 1 to 100 are writien
side by side, Find the 74™ digit.

(A} 3 (B) 4
{3y (D) 5

Hp+q+3r=20 2q+r+p=13and
r+3p+q=14,thenfindp+q+r.

(A) 10
(B) 8
(C) 12
(D) 9

How many tarms are common to the
progressions 7,11,15, . , , 497 and
1.6,11,16,....501 7

(A) 28
(B) 22
(C) 20
D) 25

A sells an article at a cerain amount
and incurs a loss of 30%. If he selis
for Bs. 256 more, then he incurs 10%
loss. Find the cost price (in Rs.) of the
arlicle.

(A) 2,560
(B} 1,280
(C) 58O
(D) 640

28.

27.

28.

29.

30,

The average weight of Amar, Bhavan
and Chetan equals the weight of
Dinesh. The average weight of Amar,
Bhavan and Dinesh aquais the
welight of Chetan. If the average
weight of all the four is 80 kg, find the
average weigh!l of Chetan and
Dinesh (in kg).

(A) 40

(B} 80

(C) 160

(D) Cannot be determined

30 men can do a plece of work In
11 days. They started the work and
after every day, 10 men join. In what
tima will the work be completed ?

(A) & | 7
(C) 8 (D) &

A boal travels 33 km upstream in
& hours and 34 km downstream in
4 hours, Find the speed of the boat in
shill water.

(A) Bkmph (B} 7 kmph
(C) Bkmph () 2 kmph

Find the maximum gquantity of water thal
can be present in a cylindrical pipe of
diameter 10 cm and length 35 cm,

(A) 887.5ml (B) 1375ml
(C) 2750 mi (D} BS00mI

In how many ways can the letter of
the word *CHAFPTER' be arranged so
that the vowals are always together?

(A) 1440 (8) 120
(C) 720 (D) 5040
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(A) 10

B) 8

c) 12

D) 8

7,11,15,.487 317 1, 6, 11, 16,...501
= vt A v am R 7

(A) 26

B) 22

(C) 20

(D) 25
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(A) 1440 (B) 120
(C) 720 (D) 5040
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iv) Test of Language : English
T OHETOY @ ST

Christianity attempted to suggest thal the
Universe is a theatre of changes and
imperection; and at the same time 1o teach
that God is perfact and unchanging. Thosa
men who sought to reconcile Christianity
with Greek philosophy were known as
Apologists. They taught that the universe
contains traces of something different from
pure matier and thus paint 1o a God who is
atamnal, unchanging and good. This God Is
the first cause of everything in the universe,
the creator of the universe. For them, the
ideas of Plato and the forms of Anstotle
become God. God is the eternal and
abiding principal in all change, the elemal
pattern which never changes. He Is the
unity of all forms, all idea. Through divine
smanations, he has created the world and
~ everything in the world, in so far it is a part
of God strives 1o be more like God and try
to return to him. The creator fashioned the
world from matter which he created out of
nothing. The pattern of the world is in his
mind.

One of tha greatest thinkers among these
early Christian philosophers, one who
worked out the theory of the Apologists
most complately was Augustine, who
became Saint Augustine. God he taught,
created matter out of nothing and then
created everything in the Universe. The
torms which he impressed upon matter
were in God's mind from the beginning of
time and even before God existed, before

AW

there was any time. |ndeed God created
time and space also. Thus everything that
is or evershall be is a creation of God and
must follow his laws and will. Here again,
we see the influence of the Greeks in the
belief that the Universe s the result of the
coming together of matter and form,

But the Christian thinkars went further than
the Greek in that they attempted to account
far the existence of matter. You will
ramember that the Greeks simply accepled
matter as well as the ideas or forms as
axisting from tha beginning. The Christians
put the ideas or forms in God's mind and
went on to say that God created matier out
of nothing, Alter e had created matter, he
had something upon which to impress
ideas or forms,

Further, these Christian philosophers
taught that the ideas or forms, being in the
mind of God, were divine. Therefore in 50
far as things are ideas of forms impressed
on matter, they seek God and try to retumn
to him. But matter holds them back. Matter
which God has crealed is the principle
which makes it necessary for things o
struggle in thair attempt 1o become divine,

Augustine lived during the fourth century
of the Christian era. He saw the great
Roman Empire which had been
established by Caesar falling 1o pieces and
walched the barbanans from the north
gradually maving down into the empire and
even toward Rome. He lived near the
beginning of that peried in history known




as the Dark Ages, a period when these
ignorant, crude barbarians swarmed over
the Roman Empire and destroyed the
civilisation which had been building since
the early days of the Greaks.

31,

32.

Which of the fellowing can be a parn
of what 5t Augustine would have
taught 7
a) All creations of God will follow
his laws and will.

b) God created matter out of
nothing.

c} God impressed forms upon
matter o create everything in the
universe,

d) Thare is nothing that can be
constant in this universe — evean
time, space and matter.

{A) aandb only
(B) banddonly
(C) b.candd
(D) a,bande

Regarding Greek philesophy, choose
an alternative that is true as per tha
passage,

(&) Greek philosophers might not
have attempted to account far
mattar while explaining the
creation ol universe

(B) It says that the universe is the
manifestation of interplay
between changes and
impertaction

{C) It strongly believes that God is
the eternal unchanging good

(D) All the above

JOD-59/LEGAL/MX-15
33. According to the passage which of the

following defines God 7

(A) God is eternal, changing and
good

(B) God created matter and

philosophers

() God is the unity of all forms and
ideas

(D} The pattern ol the world is
himseki

Which of the following can best descrbe
the relationship betwean the theories of
Greak philosophy and the Apologists 7
(A} Compatibility

(B) Abstrusion

{C) Estrangament

(D) Tolerance

The passage has most probably been
taken froma

(A) Book on History of Philosophy
(B} Book on God's Craations

(C) Bookon Greek History

(D} None of the abova

I'd rather have wine _____ beer.
{A) Instead than

(B) Instead from

{C) Insteadto

(0}  Instead of
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37. There was no lood |eft when |
returned. They __ everything !
(A) had eaten
(B8) ate
(C) were eating
(D) s eating

To hit the nail right on the head
(A)
(B)
(C)
(0}

To destroy one’s reputation

To announce one's fixed views
To do the right thing

MNone of the above

in below sentence a part has been
underlined, which has grammatical
errar. Choose the grammatically
correctalternative.

Atter | grew up and went 10 business,

| always have had a soft spot for kids
without bikes.

{A) always have had
(B) always had had
(C) ablways had

(D} have always had

Fill the grammatically comect altemate.

Rita it to me in detall
yesterday, (to explain)

(A)
(B)
(C)
(D)

Explaining
Explained

Explain

MNone of the above

10

41,

42,

AP0 T A

Passive voice
Qur task has been completed before
sunset.

(A) We completed our task before
sunsel

We have completed our task
before sunsat

We complete our task before
gunsel

We had completed our task
before sunsat

(B)
(C)

(D)

Synonym for Incorrigible.
(&) Corriglble

(B) Beyond reform
(C) Orphan

(D) Greedy

Find the antonym of the below
question.

History abounds in instances of
courage.

(A} Lacks
(B} Suffices
(C) Fails
(D) Shines

Substitution of one word.

A perzon who insists on something
(A) Disciplinarian

(B) Boaster

(C) Stickler

(D) Instantanecus
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47,

Arrange the following words to form
a meaningful sentence.

1. the doctor
2. first

3. a diagnosis
4. makes

5. an lliness
of

145623
124365

(A)
(B)
(C) @85412
(D) 145632

How many commas should there be
in the following sentence 7

| am taking English, Maths and
Science at A level and my leacher
Mr. Martyn balieves | should get 3 As.

(A)
(B)
(G) Four
(D)

Mone

Two

Throe

PAIN : SEDATIVE

(&) combort ; stimulant
(B)
C)
(Q)

gnet : consolation
trance : narcotic

ache - extraction

EtH
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Directions 48 and 49 : In each of these
questions four words are given denoted by
(1), (2), (3) and (4). Two of these words may
be either synonyms or antonyms. Find out
the correct pair in each question

48,

49,

Tranguility
Loyalty
Calamity
Uproar

1-3

2-3

1-4

&= W =

(A)
(B)
{C)
(D) 2-4

Exorbitant
Expaditious
Quick
Quest

1-4
1-2
1-3
32

P pl Pt

LA
\B}
(C)
(2

Chiidren like to wateh science
movies.

(A) Fiction
(B) Faction
(C) Fraction
(D) Fallacy
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SECTION-B

Pick the sutable option for the term bail,
(A) Attendance of a police officer in

terms of court order
(B} Attendance of 3 magistrate in terms

of court ordar
(C) Attendance of a witness in terms

of court order

82,

R0 0 0 0 O

Post Specific Subject-Related Questions

(O}
of court order

Interesl created in transfer of property
in favour of a person without
specifying the time when it is to take
aftect, is

Attendance of an accused in lerms

(A)
(8)
(C)
(D)

Warrant under Criminal Procedure
Coda 1873

[A)

(B

(C)

(B}

Public interest
Contingent Intarest
Fraudulent interest
Vested interest

Secure attendance of a person
who disobeyed the summons
served upon him

Secure witness of person who
disobeyed the summons served
upan him

Secure attendance of person who
obeyed the summons served
upon him

Secure witness of person who
obeyed the summons sarved

upan him

54,

55,

&7.

Case in relation to an offence
punishable with death or
imprisonment for a period exceeding
24 years, the fitle of the case is

(A} Cognizable case
{B) Warrant case
(C)} Bailable case
(D) Summons case

The parties to the contract alone can
enforce the contract, identify the
relevant doctrine toit.

(A} Doctrine of lis pendens

(B} Doctrine of restitution

(C} Doctrine of privity of contract
(D) Doctrine of frustration

What is Tacit contract ?

(A) Contract whers only one party
has to parform

{B) Contract inferred through

conduct of parties

Contract arised out of

implication

Contract expressad in written
form

(Gl

(D)

Contract enforceable anly at the option
of one parties to it is called

(A) Valid contract

(B) Void contract

(C) Voidable contract

(D) Quasicontract
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58, Contract which is not enforceabie 1S

1.

called

{A) Voidable contract
(B} Valid contract

(C) Quasicontract
(D) Void contract

When a owner is entitled to elect
gither to confirm a transfler or dissent
it Is called as

(&) Doctrine of part performance
(B) Doctrine of lis pendens

(C) Doctrine of election

(D} Doctrine of fraudulent transfer

Who Is mortgagor among the
following ?

(A) Transferee
(B) Guarantor
(C) Transteror
(D) Third person

What is the suitable option for decrea
under CPC 1908 7

(A} Anappeal from an order

(B) Any order of dismissal for default
(C) Any adjudication from which an

appeal lies

(D} Formal expression of an adjudication

A person against whom & decree has
bean passed is called

(A) Defendant

(B) Plaintiff

{C) Judgement deblor
(D) Judgement creditor

| 0 A A 0 0

What is tortious liability 7

(A) Breach of duty towards state

(B) Breach of duty towards family

(C) Breach of duty towards
persons at large

(D) Breach of duty towards
empioyar

Liability of the master for the torls
committed by his servant is called
(A} Vicarious liability

(B) Criminal liability

(C) Tortious liability

(D) Ciwil hability

Which of the following cases the court
renderad decision on public offer 7

(A) Securities Exchange Board of
India Vs M's Akshaya Infrastruciure
Private Ltd.

{8) Manchar Lal Sharma Vs Principal
Secretary and others

(C} Bihar Mines Lid., Vs Union of india
(D} Mc Mehta Vs Union of india

Which of the following subject matter
is dealt under the case law Chinnayya
Vs Ramayya 7

(A) Offer

(B) Capacity fo conltract
{C) Consideration

(D) Damages

Doctine thatis highlightad in the famous

casa Royal British Bank Vs Turquand

(A) Daoctrine of constructive notice
(B) Doctrine of indoor management
(C) Doctrine of ultravires

(D) Doctrine of intraviras
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6B,

69.

T

T2,

h‘l’

The case law Hadly Vs Baxendale is
on the subject mattar

() Mistake of fact
(B) Damages

(C) Quasi contract
(D} Mistake of law

Identity the case thal deals with
Minors Agreement under Indian
Cantract Act, 1872,

(&) Carlll Vs Carbolic Co, Lid.

(B} Baltour Vs Baltour

(C) Soloman Vs Soloman Co. Lid.
(D) Mohiri Bibi Vs Dharmadas Gosh

DGMS under the Mines Act 1952
stands for

{A) Dividing and
Metalliferous System
Dwelling and
Management System
Data Grid Management System
Directorale General Mining Safety

Grouping

(B) Grouping

(&)
(2]

Who is the current Chair Person for
Central Board of Direct taxes 7

(A) Anitha Kaur

(B) K.Prasad

(C} K.V.Chowdhary
(D) Sudha Sharma

When was Service Tax Introduced in
India ?

(&) 1998
(B) 1999
(C) 1994
(D} 1995

74,

75.

76,
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Which Section deals with
exempted incomes under Income Tax
Act, 18617

(A} Section &

(B) Section 10

(C) Sectlon 17

(D) Section 24

Which of the following conditions is
important while constituting arbitral
tribunal ?

(A) Parties should follow only one
procedura for appointing
arbitrators

Number of arbitrators should not
be an even numbar

Parties should appoint the
arbitrator within one week of nobce
Parties should determine only one
arbitrator

(B)
(C)

(0)

Which aof the following is nol a
negotiable instrument ?

(A} Bill of Exchange
(B) Cheque

(C) Promissory note
(D} Bill of lading

Inchoate instrument Means
(&) Transfer instrument
(B) Incomgplete instrument
(C} Defective instrument
(D} Legal instrument

Cheque is a bill of exchange drawn upan
(A) A Businsssman

(B) A Dabtor

(C) A Creditor

(D) A Banker
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78, A person who is not a partner in a firm,

80.

81.

ﬁi-

bt e miay be liable for its debts is called
(A] Sub partnar

(B} Partner in profits only

(C) Partner by estoppel

(D) Slesping partner

The year in which Indian Partnership
Act came into force

(A) 1822 (B) 1832

(C) 1940 (D) 19586
Under sale of goods consideration
means

(A) Cash

(B) Goods

(C) Something in return
(D) Positive response

Condition -absolutely restraining
alienation is

(A) Void

(B) Voidable

(C) Valid

(D) llegal

For rule against pempetuity, the nomal
period of minority is

(A) 21 years

(B) 18 years

{C) 18 years

(D) 181021 years

Transfer made to defeat the righls of
the creditors is

(A) Voidable

(B) Woid

(C) Unlawtul

(D) Valid

a7.

Gift of future property is
(&) Valid

(B) Void

(C) Voidable

(D) Unenforceable

Gift of immovable can be made by
(&) Oralagreement

(B} Delivery of possession

(C) Registered instrument

(D} Written agreameant

Lease for agricultural purpose Is
deemed 0 be lease

{A) From month to month
(B} From yearlo year

(C) In perpeluity

(D) For 28 years

Mortgagor's right of redemption
signifies

(A) Rightto sue

(B) Right to enjoy

(C) Rightto lease

(D) Rightto recover the property

Which of the following income is not
laxable under salary head ?

(A) Commission
(B) Bonus

(C) Gratuity

(D) Family pansion

What is FIR 7

(A) Forensic Inspection Report
(B) First Information Report
(C) First Internal Report

(D) Firstinspector's Report
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90.

a1.

Who files charge sheet 7
(A) Public proseculor
(B) Magistrate

(C) Police

(D) Defence Counsel

Who frame the chafges undar
Cr.PC?

{(A) Police

(B) Court

(C) Directorate of Prosecution
(D) CB

To whom the complaint has lo be
given under Cr, P.C. 7

(A) Police

(B) Govemment

(C) Magistrate

(D) Public Prosecutor

in urgent cases ol apprehsnded
danger, who is empowerad to Issue
order to prevent such danger 7

(A} Judicial Magisirale

(B) Executive Magistrate
(C) Superintendent of Police
(D) Home Ministry

What is the duration of patent 7
(A) 14 years
(B} 20years
(C) 40 years
(D) Life tima

https://www.freshersne

g7,

100,

In which of the following copyright
does not eubsists 7

(A} Question paper

(B) Encyclopedia

(C) Ideas

(D) Songs

Patenl granted in favour of
(A} Author

{B) Composer

(C) Inventor

(D) Perdormer

Service marks are protected under
(A) Trade Mark Act

(B) Service Marks Law

{C) Copyright Act

(O} Patent Act

What is the valid duration of cheque ?
{A) 1year

(B) &months

(C} 9 months

{D) 3months

Hall mark certification is related to
(A} Textiles

{B) Grocery

(C) Services

(D) Gold

Article 21 of Indlan Constitution
protects

(A) Right to Equality

(B) Freadom of Speech and Expression
{C} Religious Rights

(D) Right to Parsonal Liberty
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IMPORTANT INSTRUCTIONS TO CANDIDATES
Ie A o Tore weEvegul argam

11. This booklet containg 24 pages
12. Please check all the pages ol the Bookiet
carafully, In case of any defect, please ask
the Invigilator for raplacement of the Booklat.
- Directions ;| Each question or incomplete
staterment is followed by four alternative
suggested answers or completions. In each
case, you aré réquired to select the one that
correotly answars the question or complolas
ihe statement and blacken (@) approprale
circie A, B, Cor D by BlueBlack Ball-Point Pen
againstl the question canearned In the
Answear-Sheel. (For V.H. candidales
corresponding circle will be blackened
by the scribe)
14, Mark your angwer by shading the approprate
circle against each queston The circe should
b shaded comphetaly without leaving any space.
The correct method of shading is given below
 Wrcrg Mait il.w.:-r.;m.m ||wwmumenm.;u
Ceoologop|oa0oj0e _':'._-?-_'|

The Candidate must mark histher response
after careful congideration,

15. There is only one correct answer lo eagh
guestion. You shoukd blacken (@) Lha crcle
of the appropriate columm, viz, A, B, CorD.
It you blacken (@) more than one circle
against any ona questin, the-answer will be
freated a5 wrong, It you wish to cancel any
arswer, you should complately erase that blaok
mark in the circle in the Answer-Sheet, -and
then blacken the circle of revised response.

A maching will read the coded Inlormation
in the OMRE Anzwer-Sheel In case the
information ks incomplete/different from the
information given in the application form, the
candidature of such candidata will be treated
85 cancelled,

17, Use the space lor rough work given in the
Cuestion Booklet anly and not on the
Answar-Shaal.

18 ¥Youare NOT required to mark your answers
in this Booklel. All answers must be
indicated in the Answer-Shest only,
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